A 3 C D

REV MCO DWN DATE
B 20051982 KCC 18-MAY-00
C 20314559 JD 30-NOV- 11

4Y12 STRAIGHT GUIDE
REF 412 FITTING
/////__ REF
‘\\
\
\

4X8 TYTON f—m =
REF N
I I\
Vg {I -
- C (+D D
) C (+D >
- C (*D ) ‘I
() C (+1 ) ‘I O
o C Q) p
/S o C (+1 p
#10 SCREW, NUT AND—J//// j ] __/// | O
LOCK WASHER | 4X8 TYTON -
1 i REF |
— ] =
| /4 BOLT AND NUT
ADAPTER REF
RETAINING WASHER
REF 3
\ i // \\\ ] [ - T
O \ [ [ | |
. = \ ) [ogloy
\
T l ] N ‘

VIEW SHOWING ADAPTER ATTACHED TO STRAIGHT GUIDE
| /4 BOLT, NUT AND

VIEW SHOWING ADAPTER ATTACHED TO FITTING FLAT WASHER REF

NOTES:

| . PARTS INCLUDED WITH KIT AS FOLLOWS: 4
L oaeten a1 CATALOG NO: FGS-ACCI03
(5) 1/4 BOLT
(5) 1/4 NUT OSHRAY % WEMENY Sy, THE 12" FGS-8" TYTON ADPTR
(5) RETAINING WASHER SHALL NOT'BE USED, 'COPIED, REPRODUCED OR INSTALLATION DRAWING
(5) FLAT WASHER WRITTEN CONSENT OF TE CONNECTIVITY.
(3) SCREW |0_32 ALL DIMS AND TOLERANCES _XXE:I: .02 C DRAWING NUMBER C
(3) NUT 10-32 OTHERWISE SPECTEIED ANGULAR.E 30 | SIZE 1067687 REV
(3) WASHER #10 LOCK o EVIN HRUBY

T | : o |
DO NOT SCALE DRAWING [ ™ CRALG ZELASKO S o

A B C — | ,DIMENSIONS IN INCHES
THIRD ANGLE PROJECTION



